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•iJ;value of A:in the equation j— 3 = 9 is1. The coefficient of x2 in the expansion
(x- l)(-2x + 3) is

9.
DA b
12824B -4A

3-1
10. Simpli fy ing the fraction|- jgives

2. The number 79.41 approximated to the nearest
whole number is

DCBA
1423

DCBA 15 151515HC\A t
| /

nrt
i iy80794 I

3. The value of k for which ( x + 4) is a factor of
x1- kx-20 = 0 is

11. The value of n in 2n x 2 4 — 2 is
C DBA

B -6 14-1416
1

12. The degree of the expression (2*2 + 4)(x 411 js
4. The nth term of the geometric progression 4, 8, 16

and 32 is
C DBA
1 432

2n 1A

^n-iB 13. The solution of the simultaneous equation
2x + y = 0
x - y = 3 is

n-iC 2 x 2
4 X 2n 1D

<? = fa-2))
•? = fa 2»

A
5. The simplified form of */3 — Vl2 is B

C DA B 5 = ff-1, 2))C
3N/3 v/3 -3V3-V3 5 = ff-1,-2))D

6. A bank offers an electrician a personal loan of
315.000 FCFA. He has to pay back the capital in 11
monthly payments of 35.000 FCFA. How much
does the man pay extra for this agreement?

14. If v — 4i — 37 and w = 2t 4- 5/, Then 3v + w is
A -14/ + 4/
B 14/ + 4/
C 14/ — 4/A 70.000 FCFA D —14/ — 4/B 35.000 FCFA

C 350,000 FCFA
15. The value of 3 in the number 3467.5 isP < 385.000 FCFA

A Three thousandths
B Three hundredths

Three thousand
7- Converting 25% to a fraction gives C

A B C D D Three hundred3 2 1 1
4 5 4 16. Given A = 2/ + j.The direction of /4 to 2 decimal

places is
5

*' 'W*mb.distMce
rascal,of

A 26.57°
B 26.56“
C 63.43“A B D 63.44“C D3 cm 30 cm 300 cm 3000 cm

cor2025 2/S f
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17. The mean of the distrihntinn jsv

Marks (x) 3 5 2Frequenc 5 24- (2 X 103)(6 X 10~2) expressed in standard form is2 4
A 1.2 X 101

1.2 X 10-6A B C D B
3 5 2 1.2 x 102C4

1.2 x 10sD
IS. The determinate of ^ is

A |B in' 25.D
3 1 2 0

19. The common ratio of the sequence 32, 16, 8 and 4

In the diagram above, the vector BC is represented
in terms of a and b by

20. The gradient of the line joining the points
A = (—3,-4) and B = (1;-2) is

b + aAA B C D
b-aB1 -13 2

C a-b2 2
a + hD

21.

26. Expressing 0:65 to a fraction is
CBA
131313
6525100

v27.
The number of even nodes in the diagram above is
(are)

DCBA
1642

22. John, a Builder leaves his house at 7:35am and uses 40
minutes to his construction site. At what time does he
reach the construction site? ~ .— The diagram above is divided in to equal parts. The

shaded region is represented by8:05amA
CBA8:20amB

2 318:10amC
4348:15amD

23. \t f ( x ) = x +\. f -H x ) =
1 - xA

B x — 1
C -1 -x
D -x + 1

©TRU/RPI-Sc/SWAMT/5440/MATHS/P1/M0CK 2025 3/5

KAW
LO

 (g
ce

re
vis

ion
.co

m
)

for more past questions and solutions download kawlo kawlo app or visit http://www.gcerevision.com

for more past questions and solutions download kawlo kawlo app or visit http://www.gcerevision.com

https://v3.camscanner.com/user/download


C
am

Scanner

‘»rval ]-2,5]is represented by
33. The - v < 5-2 s» ~A -2 < x 528 . B

-2 < x < 5C -2 < x < 5D

the two points
34. The distance between

AC
A
Ju

In the diagram above, the lines AB and CD meet at

O. The value of angle B6D is x* while that of angle

AOD is 2x*. The value of x in degrees is— \—D - ^^°
CBA

80' 60 1UU120’

29. Given that x = 4 and y = 3.The value of k if y is
inversely proportional to Vx is

DCBA
Triangles ABC and DEF are similar. The ratio of
their area is

2364

30. A Technician is paid the sum of 20,000FCF/t
which is 20% less than the price that was agreed
for a piece of job. The amount that was agreed is

DCBA
4:122:33:122:4

22,000 FCFA : »-» -3x and g: >-> — 2x. fg { x) is36.A
28,000 FCFAB C DBA
26,000 FCFA -6x2C 6x2 6x-6 x \
24,000 FCFAD

20 }37. Let n ={1, 2,3
A = { Mul t ip les o f 3}
B = { Prime numbers)
C = {Factors of 18)
AnBnC =

• •••ii 131. Simplifying (““)3 gives
DCBA

839 £

9238 A B C Dm m {?) 16)32.
38. If a -f 9 = 90°, then a and 0 are

A Supplementary angles
B Equal angles
C Corresponding angles
D Complementary angles

In the right angled triangle XYZ above, the length
of die side XY is given by 39. The coordinates where the graph of the function

f ( x) = (x-2)(x -F1) cuts the x-axis is' (-2,0) and (0,-1)
~ ~

(-2, 0) and (-1,0)
(2,0) and (-1, 0)
(2, 0) and (0,-1)

A XY = yjxz2 - ZY 2

AB XY = yj-XZ1 — ZY 2
BC XY = y]ZY 2 - XZ 2 C

D XY = Vz/2 + XZ 2 D
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40> If /(2) = 4. The value of b in fir3 = 3X
_ b isA B C D 47. V225 can be expressed as-2 6 1 2 0 5Z X 52A

5s x 35B41. The probability that it will rain in a particular day is

^The probability that it will not rain is
5s x 32C
52 x 32D

A B C D1 48. A transformation that rotates each point in the
shape at a certain number of degrees around that
point is called

3 4 2
S 5 5 5

42. The circumference of a circle is 44cm.
Using n = — , the radius is

RotationA
Reflection
Transformation

B
CA B C D TranslationD22cm 11cm 2cm 7cm

49.43. If 4 sweets cost 100FCFA, how many sweets will
be bought for 1.250FCFA? • >

A B C D
50 20 25 30

44. The roots of the equation (2x -f l)(x — 5) = 0 are
1A -5x =

1B -57' X mX = The area of the cone above in terms of n is
1C DB CA= 5x = 240?r 216rr 96TT160n

1D = 5~
2±x = 50. What is the range of the data 82, 89, 64, 78, 95,92,

and 78?
A B C D45. Making n the subject in the formular

2nrh + 2nr2 is 78 31 82 41
AA /•«END !!!

GO BACK AND CHECK YOUR WORK
2rh + 2r2

AB
2rh- 2r2

AC
-7r2 - 2rh

AD
?r2

_
7rh

46. Which of the expressions below is always even
given that x is an even number
A 3x + 1
B 3x — 2
C 3x — 1
D 3x — 3
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